
Tutorial 3

0.1

Evaluate the following integrals .
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It is easier to work with polar coordinates .
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This is still not computable , but if we can do the

following , then we are done .
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we need to justify the equality in the line 1?) .

More generally , we have the following -1hm .

Thin 1 : let f :[a. b) ✗ [c.d] > IR be a cont . func.,
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Proof :
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Remark : The proof above only works for lalilbkoo .
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Evaluate the following integrals .
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Solution :

(a) The region of integration :
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we should use cylindrical coordinates :

✗ = rcoso , y=y , 2- = rsino .
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(b) The region of integration :
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We should use spherical coordinates .
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